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SECTION A (20 marks)

For each question from I to 20, four options are givea, Que of them 15 the comec

Estas) L ZRSWeET,

Stade the comrect oval {1, 2, 2 or 4) on the Optical Answer Sheet,

i Below 1s a classification chart, Study it carenrdly.
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Which one of'the tems, A, B, Cor D e
at the same Hme?

w o o=
U O w >

2, Which of the follovwing forces can act on any object at & distanes?
g
1 Maguetic force
2 Frichonal force
3 Elastic spring foroa
4 Gravitational force
3. Which of the following staterasnds about forees o oae?
1. \'hgnu ¢ forme can be sesn.
2. A force can chianze the mass of ag olject
3. Friction exists when we hotd g cup o owr end,
@, Gravitational fores nereases with increasing distance fam the centre of s

earth.



4. Youa are mven 4 ohad helow. Suus it carefully.
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Which of the fellowing represent the aniroals P, Q, R and S7
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Wihich one of the follcwing animels conld be placed at C?
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6. In the expeniment shown below, the wagnifving glass convert

ta CHETEY.

heat, Light

. light, heat

. solar, wmnd
lght, electncal

I v

7. A potted plant is put under sunlight and watersd every day, Threc ¢ AL WTRJY nad
with different matcaals. Holes ars pierced o ell of thern i

Leaf weapped—
with aluminivm
foit

Which of the leaflzaves can make fpod!

D only

A and C anly
B and D only
A end D only

s

115 Yes P

Lo



o

16.

Which ohreets ux the following bist can reflot Light weil?

CTharcoat
Steel spoons
Diagk shielves
Aol £
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A ond B onlv
. FoandConly

oand 1D only
B end D aply
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T nergy from the firewond that burms. The encrgy found 1 the
frowood can be traosd back fo the

he carplirs patedr
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Jaag wbbea evton wool over four pieces of wood with different fipes of surfaces,
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1res holow, what s the arrangement of the pisces of wond from
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You are shown the picture below. Wiy e many $uDshances Such as beer and oy

~

packed i bawels? [ -

Y
Barrels ¢ h(‘l’l 2ot of su
Bacrels ars made from dxec.u :
Rarels are bad conductors of hcs‘ winech keep the sub \“\*ﬁ“c
Barrels sre casy t0 mansport as 56y can be rolled along the

JTDIMUTE COT
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In the tabilz below, A Frch of the characwnunoy e oes of Ingests
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Meayormay | Layeags ’ Have § |
not have wings ! :
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3. X. N ~ R J
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A fruitis dispersed by water. Which of the following §
tme?

It is smail-

Tt ¢ edible

It ks & fisrous husk .

It 15 produced by the patent plany
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A and B
A and ¢
BaxdD
Cud D
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14, The chart below shows the percentage of heat cuergy veflected by different materials.

FRENRA

Jine  Glass  White Cilay
cement

d & howse ywaer chioose as a roof covernng it erder to keep his houss eon)
i the opicsy

Clay
5 Giage

4, Whits vement

yole of & coclyoach 15 dufferent from that of a butterfly, Which of the
LitTnentss are corrent?

A he voung vockmach resembles the parens but not the voung of the butterfly.

o The vermg cockroach has wings bul rot the vowng of the butterDy.

i The fifc cvile of a cockroach has three stages but the Iife sycle of & puterly
sas four stagss

4 and B oondy
Aand Conly
Toaudd ok

A, Band C -

LA Ak
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16 Wideh »f the following action/s prodace/s heat?

A Pursing a piece of vardboard
e Hubrang an ice cube agamst the table

- iy . . o =L, A, .
regting a copper wirs to the ends of a battery
i
7
3




i7.

ot

8.

The dragram shows part of a hydrocizen power station. &t which powt do
have most potental energy?
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You are given = ciassifeation chart balow.
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1o, Selly placted 4 prasn bean seedt under the condioons describad bel:

; ‘ Sesd A ] | Seed B
{ Copmized inog vaev dark room { ; - placed near Yie windsw
i Lowrtersd avery doy | I+ watzred every day
2 Cthere is waptth i , - thereis warmih
[ thare e ’ \ i § ) 2 s atr
i | Seed © . ) [ | Seed B
, © places ina pet fully wropped |1+ oloced near the windaw
i E-: 1 black phistis bag E ©notwnlered every day
Lo witered 2verv day ; I+ there is warmth
f o thare is warmth i l © thoere is gl
‘ i¢ air beoausy The ; §
s hag s plerced with
D
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4, A8, Cand D

us, A, B, Cor D, of the serew is the foree groatest u}_”

FiohduhbAldly

20, Az which of the poi
driven ot 3 plece vl wood?

3. A
2. B
3, i
Ly i



SECTION B (30 mavks)
Write your answers ta questions 21 o 30.

21, Youare given a flow-chart as shown below.

Organism A

N\

A In what way ix Orgentsra A different sromy Org

b How does Organism A reproduca? (3 )

<

o Name agother organism which belovgs to ¥ao same goup as Orgausm B (o




220 The wble selow siows hoty some fruits.are grouped. '

Plants

W e i

rour A Growp B

T

¢ Wt prycl A

g Water melon : Mung

L — - -
H b
: '
¢ '
IS _‘ O} i
! Papava Rambotan !
s = - H
; - |
i |
v 1
| | |
z ; !
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| S - — }

Weite ‘peach® and ‘goava’ in the tahle absve avcording to e cotrot

¢ Whai ges it reqidred by the plant 1o pbotosynthesis? (1 m?

&, Name tein thinge that are part of the leaves of # piant that heip it to make food




23.

b,

Below s & diagram of the ammal cell.

. [ESPNIN
B:
= ARV NIV, - IV S DA,

What are the main funcHons of the parts A and 8 mendened @ ()7 (2 =

Funetioa of the parts:

Al

jovs
—



24, Allsets up an expenment s showrn below.

- .
Foy car
BRI /

A

e et v e S

e __feor
a. What farees is/ere gctny on the toy car as it comes down the Slope? (2 m)

b. A3 the oy ca mavad downwards, 1t pushed the empty tissue box a few centlmeses
gway, Explarn why the f1ssue box stops moving. (1 m)

<FTONT
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An experiment was carried ot by o botaist w trderstand the type of feaves that stick
fusects eat. He used 2 types of stick insects and 3 types of leaved” HE FAmaER them
Stck Insects A aad Stick Insects B. He counted 10 stick {nseets fot each wpe and

placed them 1o 2 glass contatuers zs showrn below,

ey

T — (_7;-(;55 ——-
container

The number of the 3 types of leaves caren by Suck lnsects A and B are comnted anc
vecorded 1n the table below.

:

- ! .- LV onvrse a !

Wignher of teaves cetan |

:

e — -— i

Giass coniziger with | JealP Lear Q Lead R
D _ ]

. e - . - 1
10 Stick Imsvors A 130 5 =2 {

- — - — ]

10 Shck Insecis R 18 o '; Tx :

| i

. Name one condhtion that the beuinist sy chserve i order @ wmake [t a fan
test, (1 m)

ML W 1 1 mIAN U 4

A QL de Tonca o & Sied e Pae oqdls Can s Vi mpe U0 A, dgom & < Tmme sime v

b. Two Stick neects & died after cating afew leaves, Which type of leavos are
. ‘ \
these? (_ § 2201

.
b
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Ju eold counbias, we wvear woollen clothings b keop us . The woollen

matenal mepsa tayeroaf - init Both woollen mate-iale and air ars
T y sctors of heat. They help to . down heat foss fom
our bodies to the eold surroundings, thos keeping s wares. {2 )

_ The object helow iy calied Newton's cradle. Ball A %s raissd end then released.

8. Neme the entrgy possessed by Ball A ag shown in the {Husiration above. (1 m)
b. What are the cnergy conversions that take placs when Beil A strikes e next

£8il7 (2 )

'y
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28. o the experiment helow, an wron sheet is plaf od between 4 magoet and 2 suspendad
paper clip. : :

I
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Paper clip e
x T &
T b - { —
Lon sneev——
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a. Whzt will happen to the paper clip when the magnat ©© dragged along the bot
sheet? (1 m)

b. Explaim voue answer i (@), {§ i)

G. If the irem sheet (s

new replaced by a plastic shet, whet wounld you nhserve
whea the megnat is deagged along the plaste aheet? {1 o) T

s s ” anm—a . e




Henwy pla
Vi

A

we alf the jeaves on the balsam plant = his garden

a. Whar will roost Lkely happen to the balsam plant? Whe?(] w)

o peara oy - o3 - o B ~

b Napie one tinetion of the stem, {1 m

[©]

b. Labe! e o poles of Magnet V. (1)

18-
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1) 3 21) a) It is fungi

2) 4 b) It reproduces by seed.
A nl * ~ 1 A

3) 3 » c) Teadstool,

L) & 22) a) duava Peach

The fruirs in
X

\\‘u.le the

roup A countaics a loc
E‘uit in Groap B containg ¢nly ong

a) 2 seed.
7y 3

e
e

Carbon diowids

s ¢l 2 - 2 - .
) ! \.n) _l_‘) STla3Ca 30:‘ E‘) Macnatic fovon
= . - ol Tepulisgion.
o) 2 ii) Chlerophylil
) 5Y W q
10) 4 23) a) 4 : Cell membrane

Nacleus
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~
4
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Cyrtoplasm
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: Ir ig semi-permesabtle and allows cerizin
materials in and ouvt of the cell,
15) 2
B ¢ It conbtrols ail ac an
16) & cantaing genetic i
passed dewn one ger
- I
17) 2 24 a) Gravitational forvce an
>3
18) - LaoT 5'1d

O
—
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a) The iength of taine must be the sans,
b)Y Leaf Q .
¥ Leaf Q zre polsonous

a) Potential enavgy.

q T w — 2~ ~ ~ o= . ) D
b) Potential energy ——— kinetic covrgyv —~--— scund enargy
B i~ 3 ~ - C rs f -
¢) Energy cen be converted vnz forn Lo anctrerx

2) Nothing will happen.
b) Magnetism force cennot pass
will happen.

¢) The paper clip will be attraciec o ths wmagns
20) &) It will cie. It haz no leaves to imake feod £
b) It holds the branches and leaves vwpright so0 ¢

can get maximum sunlight, 30) see above



